Al

i

(5 - 6 5

ARME ELE

i e W P AR RS T/

ESNZIEN

N

20.0 (55&AT)
13.0 (65 f&AT)

m

m

= A 4t

20.0(5%)
13. 0(6%5)

m

3.6

m

SR

m

2

12. 00 (55,
3.15(5%)7°

# ot

fif I

t

N ]

A FAAET H

I




T4
Azt

REMERRIE
EERFEERET/IEREX




N T T a2 SN AT

' RSO T AT\
> bt & o *R%j;‘) — BEmE Q{OQm‘;%j?%w\) |
N S e\ l/// ,

i
"
=

) RSN o > 1 ':F
1\\ R 515,00 [ s SN %\ﬂg = TSSY/N ~
NS IHE - KEHERRTE ) =N =T
| i

i - EEREAEH/NESRXEFKINHA

- 4 ,-' 5 7 {f\/ \_

1=
0r. 1




T @ M

#ER 1:200

NOwkET

Bisxa > 9|) — bR

A

BM. 1 H=304. 015
I
( wW
(=)
NS S
©
(53

J

IP.0

/

As

T

=
ik
ey
Y

)
\

fie W m X

MER #t 1: 50
¥ 1:200
BM. 1 H=304. 015
G
308. 00
307. 00 /
306. 00 /
305, 00 /
S 304.00
1:200
DL=303. 00
‘N i 8} j=12. 00% [ &
§/ 1=20. 0m @
— ’ s ~ "y i ’
i — o o o o
E.Ig' =] IS S o o
[ . é ﬂ:' v:— o: : : o: C:\l
U £ E = 2 5 8 8 N
=] o o S S = S
$ 4 = S S
= —_ > N s — — F S =4
2 E =1 < w5 w8 B © © < ~
3 8§ 8 8 8 8 & 8
B 2 588 838 8 &3
. & ° > o 2 © o = °
—;\ + + + + + + + +
w w —t o ~— o < o o
= > B Fh B s S o o < o
IP.No| IP.L A 1A R [TL|sL]|cL S g ’ ’ S
N = ; — m o o =)
1 22.5 154-46 | 25-15 | 35 | 7.8 | 0.87| 15.4 /ﬂ“,‘f—\'—'\%"? g g o 2 = o ~ T
2 19.9 | 270-30 | 90-30 | 12 |12.1]5.05]| 19.0 = : ; : re : : w
IP. 1 IP.2
I T e e e e ST I —
SERF TER - MHER  — 1




woolE THHET

NTEEFEI N LY LB

BUHCAOLEY

D€ 0BT 051

I
E o

3 051

B &= & T F




il
i

$=1:50
¢
|
HEIREA
B
P
=
tofE B M T
< fE B M T

it




KRBT Oy Y FEHEE:

(b-

S)

(DN\TF48Y7)

300

S=1:50

Xim3aryY—+

(EF0FE, ImklL
ol |

250

XA #

YLIEAY 58 [EFAM
DESZ LETHE B0cmizE)
ELTH &KL,

BHR IO v

Kik/ XA T

A2 1)—+

fRA1v9Y)-+ &

1m52& b
A/ RE LT F1= (il mz | WAL B
N / HEDBARULEHLT 350 | 0.15 md3
AN EAOHERZEET D, 500 | 0.25 mb3
750 | 0.43 m53
HEEa 1 )—Fk
R 1000 | 0.61 m53
la
b2
b3
=
L
L b1 J
= =1
ERTIZETER Kifi TIR#ET A%k
Bz HER b1 b2 h1 h2 #z HE t b3 h3
0.30 0. 500 0.150 0. 300 0.195 0.30 0. 350 0. 365 0.105
350 0.40 0. 500 0.150 0. 300 0.160 350 0.40 0. 350 0.377 0.140
0.50 0. 500 0.150 0.300 0.125 0.50 0. 350 0. 391 0.175
0.30 0. 650 0.150 0. 350 0.200 0.30 0. 500 0.522 0.150
500 0. 40 0. 650 0.150 0. 350 0.150 500 0.40 0. 500 0.539 0.200
0.50 0. 600 0.150 0. 350 0.125 0.50 0. 500 0. 559 0. 250
0.30 0. 950 0.200 0. 550 0.325 0.30 0. 750 0.783 0.225
750 0.40 0.900 0.200 0. 550 0.270 750 0.40 0. 750 0. 808 0. 300
0.50 0. 900 0. 200 0. 550 0.200 0.50 0.750 0.839 0.375
0.30 1.200 0. 200 0. 650 0. 350 0.30 1.000 1.044 0. 300
1000 0.40 1.150 0. 200 0. 650 0.270 1000 0.40 1.000 1.077 0. 400
0.50 1.100 0.200 0. 650 0.200 0.50 1.000 1.118 0. 500




i

R 1:100
MC. 1(2.9)
-0.04
3.90
1.80 | 210
T
DL=305. 00 : /
BP=0.0
-0.10
Eﬁg&: ’7 U_ l“EEEE 3 90
1.80 >%< 2.10
_ DL=305.00 FH=304.86 \ | i
. |
\\777 //
\ /
SL=2.5
NaOwET
$3 = 3.1 -
UA=1.0

S3 CA=0.3

S3CA=1.0

0.00
3.90
DL=306.00 -~
| |
\ v
\ K
\\\ N
/(77,
7N /
/ v -/
/
/ -
y SL=2.5
S3 =417
UA=0.9
-0. 01
3.90
DL=306.00 Loy 210

S3 CA=0.8

S3CA=0.2

SSERT HEETER

— 1




i

#fER 1:100

DL=306. 00

DL=306. 00

EC. 1=BC. 2(10. 6)
+0. 02

S3CA=1.3

DL=308. 00

SL=4.8

S3 CA =234

DL=307. 00

20.0

-0. 22

6. 50

4.40

2.10

-

17.0
0.00
5. 20

S3CA=1.6

S3CA=0.4

SSHEFT MEEEE — 2 —




REIOv/E RER

R 1:100
8. 40 9.47 0,30

0.54 5.04 2.82 1.50 1.88 1.88 1.97 2.25 _]0J20
5.6 2.8 3.4 1.9 2.0 2.6 QT +TIEE

FH=306. 89 2 ° % o o - § %
e FH=304. 86

LS TS T
DL=305. 00 | (g8 IIME\M.\’"I‘\’I Il.[[.[n DL=305. 00
— LW T \"’A’llllllﬁm\’."\.llllnll[n
ST L g L s D e

B0y ) — bR

\

IIIW\ITIT!\I!L.EI[;W j

II’IH“I‘T”"":’?

), 55 5.20 | 2.87

8.62 9.23

)78y T30 HRiE-HEX

y R () SEEE | 1350 BAER 0.3
B 8| maxgadez) (ke) (B L -
L 1300x500x350 350 34 (0. 35+1. 40) /2x2. 62=2. 29m2
s 820x500x350 240 25 avHy—k
N | — |
c 300x500x350 53 5 < 2.29x0. 3020. 69m3
TR
W 820x500x350 235 14 2.29+2. 82x0. 30=3. 14m2
EL 796x500x350 210 4
1.40
ES 496x500x350 125 6

SEEM REK




BIEX B E Y ERR -

HE X

#ER 1:200

72

13.0

\\\\‘{{\

D

~ EC.1=BC.2(10.6)

—

4

 R=12

)
A

0

R

A
v

/ N
a3
)

. |
IP.0 \’a

FAT77IL M BIEL - #BE
A=70. 4m2 (t=4cm)

BEERiEEY BURL - X

E Al

5

= i

%

T AT 7IL gL

70.4 m2

V=70. 4x0. 04=2. 8m3

EXREVLEYS

X IWHEBEOLO, RRLEEBEHEEICLD

E Al

e &

TAIT7IL M3%

2. 8m3x22. 5kN/m3=63kN
g 63kN/9. 81x1000=6, 422kg

SSER BRBEYERE - BHER

717




¥ &

#ER 1:200

310

315

320

325

REH

0ce

RKBEIOv &

sc¢

=132

BM. 1 H=318. 215
L

315

e Wr m X

MER #t 1. 50

¥ 1:200
BM. 1 H=318. 215
Bt
320.00
319.00
/
/
318.00 T
317.00
S; 316. 00
1:200
DL=315. 00
S =
5 R ( )
NG/ : : ¢
e — o — o o
o = 8 5 8 3
— > ’ ’ = = S
7 = 8 s 5 B8
_ Y s 3 E N S z
AT B B = 2 g2 2 g g
N S 8 S A =
mEE) == 22 2 =
1B h0 BE Bt S < & = S 3
B PR B s s 2 2 =S 3
= o + + + + o
N ; o ™
/ﬂ“:‘f—\'—'\%"’? g Z 3 2 S g
FH #R

THH - AmEE — 1 —




wool & TEHFLET

NEHEFTEE 1LY LEEY

=y

o

o™

(@'
&S

I
x|

051 3 051

d#at T F




il
i

$=1:50
¢
|
HEIREA
B
P
=
tofE B M T
< fE B M T

it




KRBT Oy Y FEHEE:

(b-

S)

(DN\TF48Y7)

300

S=1:50

Xim3aryY—+

(EF0FE, ImklL
ol |

250

XA #

YLIEAY 58 [EFAM
DESZ LETHE B0cmizE)
ELTH &KL,

BHR IO v

Kik/ XA T

A2 1)—+

fRA1v9Y)-+ &

1m52& b
A/ RE LT F1= (il mz | WAL B
N / HEDBARULEHLT 350 | 0.15 md3
AN EAOHERZEET D, 500 | 0.25 mb3
750 | 0.43 m53
HEEa 1 )—Fk
R 1000 | 0.61 m53
la
b2
b3
=
L
L b1 J
= =1
ERTIZETER Kifi TIR#ET A%k
Bz HER b1 b2 h1 h2 #z HE t b3 h3
0.30 0. 500 0.150 0. 300 0.195 0.30 0. 350 0. 365 0.105
350 0.40 0. 500 0.150 0. 300 0.160 350 0.40 0. 350 0.377 0.140
0.50 0. 500 0.150 0.300 0.125 0.50 0. 350 0. 391 0.175
0.30 0. 650 0.150 0. 350 0.200 0.30 0. 500 0.522 0.150
500 0. 40 0. 650 0.150 0. 350 0.150 500 0.40 0. 500 0.539 0.200
0.50 0. 600 0.150 0. 350 0.125 0.50 0. 500 0. 559 0. 250
0.30 0. 950 0.200 0. 550 0.325 0.30 0. 750 0.783 0.225
750 0.40 0.900 0.200 0. 550 0.270 750 0.40 0. 750 0. 808 0. 300
0.50 0. 900 0. 200 0. 550 0.200 0.50 0.750 0.839 0.375
0.30 1.200 0. 200 0. 650 0. 350 0.30 1.000 1.044 0. 300
1000 0.40 1.150 0. 200 0. 650 0.270 1000 0.40 1.000 1.077 0. 400
0.50 1.100 0.200 0. 650 0.200 0.50 1.000 1.118 0. 500




i

fER 1:100

DL=318. 00

DL=318. 00

S3 CA=1.2

S3CA=1.14

1.0
-0. 01

3. 60

1. 80

|

1.80

DL=318. 00

DL=318. 00

S3 CA=0.8
BA =17

S3CA =26
BA =1.7

6SEF ARMER

— 1




i

#fER 1:100

DL=318. 00

DL=318. 00

S3 CA=0.5

S3 CA=0.5

6SEF ARMER

727




REIOv/E RER

#fER 1:100

DL=320. 00

DL=315. 00

12.00
2.00 2.00 4.00 2.00 2.00
2.00 3.00 2.00 3.00 3.00
oL1.00_ 1.00 o
o o «°
a S S S o a
o N [fe) ~ — i
FH=318. 03
L
W w L fwipt L STTL
S S L m L
wl ol fwl L
L S L
S W W L
S W L W L
L N L
S
L W L
S L
W L
L

FH=318. 41

JNT4BvY T500 K - HEXK

FRHE (mm)

SEEE

B (g&xmanEz) (ke) 150 G A " *
L 1300x500x500 390 42
S 820x500x500 260 32
C 300x500x500 60 2
w 820x500x500 255 17
EL 796x500x500 240 5
ES 496x500x500 135 5
62 &

45 1EY

— 1




BIER B S Y ER - HER

#ER 1:200

As

FA77IL % BURL - BE
A=41. 3m2 (t=4cm)

5.0

| -
b
/?
2.0
BP=0.0

BEERiEEY BURL - X

i Al # = ] =
];E TRAIT7IL M 41.3 m2 V=41. 3x0. 04=1. 7Tm3
3t X —ERERMRED -0, RELKETHEICLD
o
As EXREDNEH=E
iz Al # = ] =
i FRI 7 3,874 kg | gakiys 5110002, 8t
>t
>t
Xﬁn%
&
B

6SEAT BIRBEMEER - BER — 1




